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AR DL 17,265,442 16,884,205 381,237

= 3,554,267 3,502,267 52,000

=l 4,624,303 4,624,303 0

g 17,071 15,437 1,634

= 1,634,317 1,592,293 42,024
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= 593, 117 541,117 52,000
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AENEY XIS 877, 142 877,142
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2 564,501 528,000 36,501
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OSSR Moz 2 70,000 0 70,000
— b X & =] 18,000, 000! »1CH 18,000 0 18,000
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2 6,600 5,100 1,500
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1,125,637 1,035,886 89,751
= 574,303 574,303 0
2 551,334 461,583 89,751
AbEEAe! 305,200 215,449 89,751
308 X+XI €M S 0| & 305,200 215,449 89,751
05 MHXISHH AL L2 305,200 215,449 89,751
OAZAIY SE2 305,200 215,449 89,751
2YNE 1,407,405 1,401,719 5,686
= 4,149 4,149 0
3 705,000 705,000 0
| 17,071 15,437 1,634
= 2,823 2,050 773
2 678,362 675,083 3,279
302,070 299,570 2,500
= 705,000 705,000 0
2 597,070 594,570 2,500
2,500 0 2,500
308 X+XIEHHISOI & 2,500 0 2,500
2,500 0 2,500
2 2,500 0 2,500
105,335 102, 149 3,186
4,149 4,149 0
17,071 15,437 1,634
2,823 2,050 773
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